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MExe:@+2:E@+0=3:5:6a3k
x+y+z-l4&?ﬁx2+y2+=2ﬁm%t{mt?
(@) 81

b 84

© 87

@ 90

2 T & Aea R I wEEred & AR H
FAT 6 2 1R | I GG F it bt AT AN I
HEATSY 3 il o AT T AT TR ?

(@) 13:5

(b) .25:1

(© 9:4

@ 16:1

e FRE A G 9T ¥ /541 9T @ e |
20 fire 26 & wgar ¥ | 7t 97 o EET @ @
Toar &,  frar erg e 2

(a) 25fFe
() 30fFe
(@ 32fme
@ 3sfme

2P _ 1 1 p & V7T 3% T NIW A% TR, FET p > 6
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(a) 1 .

b 2
() 3
d 4

1.

2.

numbers 36, 33, 30, 27, 24, ... 2,3, ©

L 240 pp A=
() 237 a = =26
(© 234 0= 26+ (n-)x3)
@ 231 ’__;f /2

\)r)/BothI and II

CEBN-T-EMT

VI‘./ The remainder when (m + n) is divided by

a-b=#8
ak = IS

What s 17415 + J5-2/15 equal to?
@ 3 arbe 17
b 23 s &

-1 J’+.¢
wr” 246 - VB) oz e

@ 2(5+V3)

20 3

s +43

What is the maximum value of the sum of the 5.

There are two natural numbers m and n

(m > n). When m is divided by 12, it leaves a | ¢

remainder 4. When n is divided by 12, it leaves
a remainder 6. Which of the following
statements is/are correct ?

12is 10.

II. Theremainder when (m - n)is divided by
12is 10.

Select the correct answer using the code given

below : 7

(a) Ionly
I only

(d) Neither InorII

Google Play
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4. If (x+y) :(ys2):(z2+4x=3:5:6 and
X +y+2=14, then what is x? + y2 + 22 equal
to? 34y =3
(a) 81 tx=5
‘/m/“ 1,‘3‘
) 87 ,+]+x-? ’
z=
d) 90 4] 25 -
76 3+2
- =2

The ratio of sum of two numbers to their
difference is 5 : 1. What is the ratio of the sum
aflhewsquanslo:hadxffmmof:helr

squares ? ary £ Cf‘f"‘?‘
S R
’ < £
© 9:4 1"(? See— ?‘
@ 11.:1 % 7 2
pv =oz

x
}"’
Travelling at 3/5™ of his usual speed, a man is
late by 20 minutes. What is the usual time if he

travels with his usual speed ?

(@) 25minutes M= J%S_x LA
J/Nmum g

(¢) 32 minutes b 2 -"S-F';;Go—

What is the remainder whea 2° - 1 is divided
b_yp,whenp>5uapnmenumber?

Ut e e "r) /2=.L
(b)) 2 ‘2 1 ‘n
®© 3 ey
@ 4

(3-8)
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8. 24%-16° -8 FHES HHEIFIR?

(a) 33

(®) 30

(c) 28

@ 24

9. fFdtaruiia 20% wwafa = @R = sfrad
Hafr ) T T gt =g ot st o der
B, fore a7 e S & s € St 2

(a) 2-
M) 3
@ 4
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(a)
® Gtext)/G-x

(© (Byt—xt)/(2y-x)

12.

13.

14.

d @yt-xt)/(y-x
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st

11. nﬁsina+cnsu=ﬁ.ﬁﬁ0<a<§ g

sin® o — cos® o FFEH TR ] 2

(@ 1

b)) 12
(0 V4
@ o

(1 + cot & — cosec @) (1 + tan o + sec o) fFaF
TRE?

(a) 12

® 1°-
© 2

@ 4

qﬁ:mg:M agfeaﬁta(a;e%]

 sina+cosa’
AR E, @ 25in6 FrEF TR R ?
(a)
(b
(c)
d

o & fore Tt & feqg =i
(sin & + 2) (sin a + 4) (sin o — 2) (sin o — 4) [I
BT ?

(a) FEATTE
(b) T
© X
(d) W

sin a —cos a
sin o + cos o
cosa—sina

+ (sin & — cos @)

xFAAFIE, Tl 0sx<30°%, 5
tan 3x tan 6x = 1 FI ETE AT ?
(@) 0°

(b) 10°

() 12

d) 15°

< £
e

8. What is the
243-163-8%7
G HZ- 8x2~

number

33

3fr.s .3
& s B 3"1".]
© 28 Bf‘xéﬂ_g—J]
@ 24

3
X §X2 p o2
‘79 v, a2 *3
Sxatx 2" iy
9.  What is the least number of complete years in

which a sum of money put out at 20%

compound interest (compounded annually) will

be more than doubled ? e
1 ey, |20y 22
@ 2 ooy ZoX K Tob | 18
(b 3 ‘|\‘H
Nl 5
3
\l;'%&*
@ 5 IRARS
EN
&0

10. A train of certain length takes time t to pass
completely through a station of length x. The
same train with same speed takes time 2t to

pass completely through another station of

length y. What is the time taken by the train to |

pass completely through a station of length

(x+y)? g:-—ﬁﬁ‘

@ Qute)/G-0—" grd
L X

(b) (yt+xt)/(y=-x) at

© (Byt-xt)/Q@y-x) e 28+2%

of factors of

13.

14.

\)d’)/'(z_yt—!_tt)f(y;!) M%
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11. lfsina+cosa=ﬁ.where0<a<%.ﬁhen

what is sin? a - cos? a equal to ? - _fz

e
(a 1 | y
) 14 W5 A

o

12. Whatis (1 + cot @ — cosec @) (1 + tan a + sec a)

equal to ? J:.'-‘S‘

OB e (e
2 4-2-

d 4

s SO g

[cs%] are acute angles, then what is J2sin®

equal to? tmo+l ‘;‘mni«

(a) sina-cosa tang -1

(b) sina+cosa

(c) cosa-sina

(d =(sina-cosa)

For how many values of a does the expression
(sina + 2) (sin @ + 4) (sin a - 2) (sin @ — 4)
become zero ?

No value

One

Two

Four

(b)
(e)
@

15. What is the value of x, where 0. < x < 30°,
satisfying tan 3xtan6x=17?
(a) 0° ?x

e ¢

(© 122
@ 15° x

B)

e
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(Q—b)"" F i)
(Q b)(b e)(c-2) pg¥
(a—b)? (b - o)? 21.
- (b=c¢c)(c-a) (c-a)(a-b)
(c-a)? _
(@a=b)(b=-¢)
ﬁm%m%,iﬁa:b:c"
(@ 0
®) 3
(©0 a+b+c
d 3(@-b)(b-c)(c-a)

17.

18.

19.

(a) 400
(b) 440
(c) 460
(d) 500
CEBN-T-EMT

frar & 100x99x9?);( x3x2x1 w
Tﬁiﬁ%l nwmmm%ﬁm’%ﬁﬂwﬁm

27 'S 100
(a) 20 5] *®
b)) 21 Yy
() 24

) SEFAAFET

T =it I WM P & o1 WRT g e i 3R
x WX (x > 120 m) ¥ 0 73 1 3 i 7@ fior
T ot TS AT | 3HF AR TE 40 m HieT T 3R
o afem fear it S g a1 SEF AR FE 60 m A
T 7 W OF M Q W UG | IaF 918 I¢ ©H
Q & I e F 200 m i T 79 W T WH RN
9T | 3 PR = 200 m &, it x e st & 2
(a) 150 m

(b) 180m

() 200m

d) 240m
uﬁxz+y2+z2=3,ﬁgfx,y3ﬂtz'fﬂ$§,?h
(xy+yz+zx)§v‘ﬁn‘<ﬁmﬁmﬁ?

(a) T
G

(b)
Eics

(c)
(d =K

uﬁx,y, zamﬁﬁmrimmﬁﬁ
x+y+z=103ﬁtxy+yz+zx=18?,?h

3+ y3 423 - Sxyz FITA TR ?

(6-8B)

P+2/+T =0

T AT FY T FEATTEN (pole) RTET TR | affy
e & e v et O ey
w9 9 forer areft A ITE aﬁaﬁ%aﬁ%aﬁaﬁr
g At 07 m AR 24 m & | fty T At F
efta fog & e ¥ A g et & 2

(a) 3m
(b) 5m
() 6m
(d 7m

@ 20 em ST @A FE € ¥ | T S AB
waTg 32 em ¥ | AB W UF i E 5@ v € 6
CE=13cm?| AE x EB frm steR &7

(a) 231Tcm

() 256 cm

(c) 272 cm

(@ ‘297Ffem

T TR (bowl) FT AR YT Tk T7iet 1 Fee & |
e N o TR el YR T 8, At <t A
2d BT T ga A W & | Mo I PR g 2
(a) 2-5d ;

®) 275d

(© 3d

@ 825d

P ABC ¥ AB=2cm, BC=4cm 3
AC = 3 em ¥ | FIUT A 7 T (bisector) YT

BC ¥ D W TUT I B F1 5= AD A E W firerar
2| AE : ED foreh st € ?

(a) b65:4

() 5:3

(c) 4:3

d 3:2

fingr ABC #, 07 A 7 TSI (bisector), BC %t

D W FRear € 1 I AB+AC=10cm & @
BD:DC =3:1% ACH oo war2 ?

(a) 26cm
(b) 6cm
() 75em’
(d) 8cm

e AET—— _&rr—

j 16. What is

17.

18. A man starting from a place P went x metre

19.

20,

400
W% 40 |)o [—:L"’-'ra +L-G‘a’+a"w
e~ 460
(d) 500
CEBN-T-EMT (7-

(b -c)? 5
(c-a)a-b)
(c-a)
(a=b)(b=c)

(a -b)?
(b-c)(c-a)

equal to, wherea#b=c?
0

(b) 3

(c) a+b+ec

(d 3(a=b)(b=c)(c-a)

100x99 x 98 x ...
100"

integer. What is the largest value of n for which

this is true ?

Given that

(a) 20
(b)
24
(d) None of the above

(x> 120 m) East before turnmg South. He went
40 m straight before turning to West. He went
60 m to reach a place Q. From Q he went 200 m
North and reached a place R. If PR = 200 m,
then what is x equal to ?

(a) 150m

(b) 180m

() 200m

(d 240m

Ifx2+y2+22=3 , where x, y and z are integers,
then how many values can (xy + yz :éx) have ?
(a) One o 0Dz

() Two 1;10,’ ¢ @ =0

(¢) Three

(d) Four I1TT

If x, y, z are real numbers such that
x+y+z 10 and :_:y+zz+zx-18 t.henwhat
" i8 the value of x3+y% + 2% - 3xyz ?

x3x2x1 ,
18 an

21.

22.

23.

24.

25.

)]

%14;!"-_!_7;‘-_'_ 9{1#4.;2,.}11‘? = )00

loo - 3[13)

B)

&
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A lamp is kept on a vertical pole. The height
of the top of the lamp above the ground is
Ta m. The perpendicular distances of the
bottom of the pole from two adjacent walls
meeting perpendicularly are 0-7 m and 2-4 m.
What is the distance of the top of the lamp from
the corner point of the walls on the ground 7

(a 3m
() 5m
(¢ 6m
d Tm

C is the centre of a circle of radius 20 cm. AB is
a chord of length 32 cm. E is a point on AB such
that CE = 13 cm. What is AE x EB equal to ?

(a) 231 square cm A LT
(b) 256 square em
(¢c) 272 square cm
(d) 297 square em

The inside of a bowl is part of a sphere. When
water is put into the bowl to a depth d, the
water surface becomes a circle of radius 2d.
What is the radius of the sphere ?

(a) 25d

2-75d

3d

3-25d

In a triangle ABC, AB = 2 cm, BC = 4 cm and
AC = 3 cm. The bisector of angle A meets BC at
DandthehisecwrafangleBmietsADatE
What is AE : ED equal to ?

@ 5:4 @ﬁ‘“”‘
(b)) 5:3

(© 4:3

d 3:2

In a triangle ABC, the bisector of angle
A cuts BC at D. If AB + AC = 10 em and
BD:DC =3: 1, then what is the length of AC ?
(a) 2:5em A )
(b) 6cm
(@ T75cm
(d 8ecm

B‘ Sl,b',"‘c_

ulp
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26. .
BHCEW A;Bc % AB +BC=T7-1cm -
+CA =121 cm 3K ’ . W‘Faﬁaw{ I
finrr & M
o T AT TR 2 CA+AB=72cmRl (M+N)WWWZ::7N%W*mtI GGETITON
(@ 38Ftem @ -02 26. Inatriangle AB oogle Pla
(b % BC +CA C,AB +BC =71cm
) 32 §fem () =050 What s “;12»1 emand CA 4 AB = 7"2 . 31. A real number M is
vy o (a) 3s el ' N. What is the mjnim’quakd to give the value
, u
d 33 a;me d 025 o 19 ::ﬂl‘e cm M- 018 m g;of(M " !l ?
uare cm b) 3
27. T EHIE SR 32, FAmft 33T wEnsit © 3 - 640
~> ﬁ HEA 5 aﬂlﬂﬂm 3 square cm
R T o 150503‘%“10@31’1(8“,% AR WIEA 5 R ? Fargm, {50 (@ 33 squareem V:’,/:
AR R ? | SIS F (a 9005 oG Whssdfsmdi 25
(a) 40 (b) 9540 and 8 sides of a parallelogr 32. Whati
V3 Frtem © 9600 What em and the angle hetween :: sy a S S AES St ;
() 4oat at is the area of th em is 150°. remainder of 5 wh rs that give
cm @ 9640 @ 40J§ “ e parallelogram ? =; en they are divided by 507
(c) uare 9005 oo, ... =’
205 e 33. IR 6 40 square ¢ - ﬂ (b) 9540 /05,/55.. 7 ®) 1553
d) 203fcm 4, 69, 72, 75, x I 3aq 62 3R © m g © 9600 ... 155 -
(62 3ﬁ'{ 76 mﬁa?ﬁﬁ)‘a ?ﬁ’ % 2 76 a'?iﬂa' 20\15 square cm /o a 3?? ,-, o » ‘?97 (,1
gwifaa * =
28. P ABC ¥ 3w A ik g a2 * T’f*mﬁ @ 20squarecm 10X &% sin (1+& ) sei0 F=3 yinse] g 955
AT DT AT 13002 CH R bisectors)| ) 0 28. The measure of Jox¥ % 5 Rxmc ¥ 11X S8 1
| T B FTHT TR (®) bisect an angle formed b erage of 64,69, 72,75, x li
(a) 65° 2 69 i ors of the angles A and C of the y the 62 and 76 (excl H lies between
() 75° (© 170 an C is 130°. What is the me e triangle the number of possib 2 and 70, thes what is
(© 80° @ 71 ) oy A of the @ 68 §2 ;e' integer values of x ?
. a) 65° X DES
@ 8" I - 7::'5 . 6Y, 69¢72,75. 76
29. log,, 2000 (x+y+2) altﬁ's’f % Y Zngﬁ; 80° (¢ 170 ii_‘ﬂ_‘_ 3'+3'
) 10 +1 . ‘ =k, TRk
Pk Wl :gm 400 + 4 log; 25 + 5 log;, 20 IR x+z-y) % & ZT;?{“Z_T (constant) € | @ 85° @ 7T 2
b Y2
(@ % (o + 153, ot loy, o+ (v + z — x) Forereh Tt & 2 el &, 29. Whatis R
® 16 g "/‘]- > @ =x 108, 2000 + log,, 400 + 4 1 Y SR ity =lk,
(o) .IB & gq‘a T+ S‘G-ﬁawl*‘l) b y equal to ? . 08102254-5]08-1020 is proportional to nx;z-y)x(x_z+y')
@~ 20 ;;) yz (@ 10 L»d"lo xL + ua'.'o 8 q%e_ proportional to : yz. then (y+ z2—x) is
" & y ) “xz [ f" (b (@ x
. s 4 ( ) 16 + S}Zn?hlom— ks
30. 3R logy0(100001 — 4%) g5, wATHE 3428 e 18 ¥
5-x = 1 %, ot x frad Fu=R oTeT fn it & A Swe @ 20 © yz.
22 mw7uﬁ3ﬂamﬁmm%?ﬁmpmt @ =xz
@ o0, TR | (p — g Freah a2 q g0, 1f 10810(100001 — 4%) N
® 1 ° - (a 0 aY., - B-x =1, then what is x Let p be the remain
o I equal der when 7% is divi
© 10 o B 4 ‘747(/ :“)" %43;:‘1 q be the remainder e ;d,l"‘ded by
‘ y 344, i v
T g E:)) . 7 ) (7 ) u:) (1) @ 0 Wostis -0 saualto? divided
8 M .
CEBN-T-EMT ( © 10 ® 1 3% 7 8y
(8-8) @ 1 © 2 3 _
00 -4 2
d 6 ? 7 ++
CEBN-T-EMT a v D (2
g
78 7z.+r ﬂ») (9-8) T
8¥_3 3
chas o +t “ =270 a2 2
£ ?
F-1 7 4
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36.

37.

39.

40.

CEBN-T-EMT

= |V

N 53 aqam e d, i 2, 22,29, 24, .., 2°
gmﬁmmia’tm L&A’ | n HTAE T
?

41.

(@ 12
() 13
© 14
d 15

P W W wW s ¢ fws fg
1 p2 4

532900 & 266450 52§900 Wit

@ 729

® 243,

© 27

@ 1

42,

abx

Wﬁaaﬁtﬁ,mx+a+b=—
ab + ax + bx

T E, W (af + o + p) HFTF R 2
(a) ab+a+b

(b) ab-a-b

(c) a+b-ab

(d -—(ab+a+b)

T S-3H1T TE N | Rer fife | se e s
AT & 31 T UEGA P ¥ | AR N F o 3 F
a1l i pSirer, A el 84 YW AT 1 AR N 5hs
AFF AT AP, AT el 0 AT | P+N
FAARTR? |o-;—+3 =H

(a) 100 RV o
®) 110 *§ au
2~
© 115 % 7 ¢o
@ 120 P o=
x93 o

100L ¥ wF faor § 0 ot anda aa
3 : 2% U & & | e i et & Zgaw A
(@t wem) et &, fordt oo F firetran Sg A
ftomreft firsror SO 7T 20% BTS2

@ 10L l?’: ";
® 20L ,
Yy

() 25L
(@ wFIEE

(10-B)

ﬂﬁZsin‘u+2cos‘a—1=0,3'Gf05u<n/23,
@ sin 2a + cos 20, fre s R 2

@ 0
b 1

(©

d o )

 Frefarfgs w fem At -

I.  1-sin®« = cos?a(cos* o — 3 cos? a + 3)

T cosPa-sina=

2 sin? o (1 - cos? a + sin? a cos? o)

T PR R
(a) *AT

b AR

© Istmdnt

(@ TANLISI

E Wq:cosecﬂ%,?ﬁ

cosec 0 +cot 6

p? - 2pq fFEh e R 7

MW p=

(a) -1
(b)) 0
€ 1
d 2

36.

317.

38.

39.

40.

CEBN-T-EMT

N is the smallest 5-digit number which when |41,
divided by 2, 22,23, 24, ..., 2" leaves a remainder
1. What is the value of n 7
(a) 12
(b) 13
() 14
d 15
What is the minimum value of p for which
1 + p a + 4 is an integer ?
532900 266450 523900
(a) 729
(b) 243
(© 27
@ 1
If o and B are the roots of the equaﬁon‘z'
x+a+b=—abx—,thenwhatis
ab +ax + bx
(af + o + B) equal to ?
(a) ab+a+b
(b) ab-a-b
(c) a+b-ab

(d -(ab+a+b)

Consider a 2-digit number N. Let P be the

product of the digits of the number. If P is

added to square of the digit in the tens place of

N, we get 84. If P is added to the square of the

digit in the unit place of N, we get 60. What is

the value of P+ N ?

(a) 100

110

(¢ 115

d 120

A mixture of 100 L contains kerosene and |43.

turpentine oil in the ratio 8 : 2. What is the

minimum quantity of kerosene in litres (whole

number) that should be mixed in the mixture

so that the resulting mixture has 20% of
" kerosene ?

(@) 10L

(b) 20L

(0 25L

47 Not possible

(11-B)

GET IT ON
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If2sin*a+2cosa~1=0, where 0 < a < W2,

then what is sin 2g + cos 2a equal to ?
r 4

(a)

ﬁ+l
(c) 2

J3-1
) ~%
Consider the following :
L
I ms.u—ainsa='

0

1 42X
7.‘#.14" Yy

1 =4

1-sin®a =cos?a (cos*a —3 cos?a + 3)

2sina (1-costa +sin? a cos? @)

Which ot: the above is/are identities ?
1 onry

M only
Both1and II

(a)
(b)
(c)

(d) Neither Inor Il

If p=

what is p2-2pq equal to ?
-

dsy| -

(b)
(c)
(@

0
1
2

1

cosec 0 +cot

P:

and q = cosec 6, then

sIne

L+l e =
| /2 ’
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47,

CEBN-T-EMT

= |V

Fefafea ot w fam Hfv:
L W?ﬂﬂﬁﬁ(msecu—seca)'ﬂmm
S B R |

IL Yo% IEuiT & (tan « — cot a) ¥ ¥H 8T

FOTHF TR |
IEE | A BT T R 2R 2

(@ FaAI
() FaAI
(© I3RiEt
(@ TALIRM

TF T (tower), T & UE ¥ THME O (same
level) W fera faig A R 60° F1 oy siafa Fxar ¥ |
B,A $IWTHI@m g sftAB=h |z
F IS 1 T oy, SR B Y wrar i g, 30° 2 |
TRAIIEFR? B
(a 2h
®) 25h
© 3h
(d 35h a A

cos6
1-tan6

sin 6
1-cotf
(a)
(b)
(c) cos@-sind
(d)

0 = w/4) Frah suat e ?

sin® + cosO

sin® — cos6

~ (sin 6 + cos0)

4cm ﬁm%@qa%@amﬁmrén cm? 139
Y R A ¥ 5 T S For F Ao e 2
(a) o
(b)

T
2
() w3

(d) 4

(12-B)

49.

50.

= L n
~ uﬁmt20—3\/§°°w+8 O,WGSERE Q.

A ein 0+ cos VT AR TR

@ 0

® 1

© B
1442

(d

P & & FH-AVHA-H T 78

I sin20=(—xi)2-,ﬁﬁx,yﬂmamm

y o
reafar TR & |

II. sinB+cosO=x+ %,ﬁﬁ x T s
TRl

i fRre T 5 = e o Al I :

Fad [

b FI

(¢ IfRIamt
FarL A

(a)

(d)
IR et
0<0< % 2, T (m? + n2) cos 6 — (m? — n?) cot 6

o s 2 2

m?(sin 6 - 1) +n(sin 6 + 1) = 0,

(a) 4mn
(b) 2mn
(e 1
@ o

44,

45.

46.

47.

@ =

® w2 v W

© w3 y
@

CEBN-T-EMT

o 2 ALV
_‘3

. 90 .
—t
% t ,7 5 *
>
Consider the following statements :
vk\ (cog‘c:c o~ sec «) is always positive in the
first quadrant. :
O ——
Il (tan a - cot a) is always negative in the
first quadrant.
Which of the statements given above is/are
correct ?
(a) Ionly
(b) IIonly
(¢ BothlandII

V(d')/ Neither I nor II

A tower subtends an angle 60° at a point A on
the same level as the foot of the tower. B is a
point vertically above A and AB = h. The angle
of depression of the foot of the tower, measured
from B is 30°. What is the height of the tower ?

(a) 2h
(b) 2:5h
3h
(d) 3-6h
What is —20_ , 88 5 , 4) equal
1-cot 1-tan6
2
to? 2 tes O
. S\nWB + —L;S—a-::l;h’
sin@ +¢0s® \g-coso
(b) sine—c?se L Kvxv_c,_{’&
(¢) cos®-—sind Two- 0
(d) —(sin6 + cosO)

The length of an arc of a circle of radius 4 cm is
n cm. What is the magnitude of the angle
subtended by the arc at the centre ?

1
9= Yy e

48.

50.

GET IT ON

Google Play

Ifcot’9-3ﬁcot9+6=0,where%$9< 3

then what is a value of sin 0 + cos 20 ?

(a 0 whGEfa7T— 2
e e
1
2
0 3 1['3-:{_71 1%
@ 1+42
A y+_|__
2 2

Which of the following equations is/are
possible ?

(x+y)2

L sin?9 = , where x, y are positive

unequal real quantities.
II. sin@+cosf=x+ l,wherexisapositive
x
real quantity.

Select the correct answer using the code given
below :

(a) Ieonly

(b) IMenly

(¢) BothlandIl
@~ Neither I nor I

If m2(sin 6 = 1) + n? (sin 6 + 1) = 0, where
0<e<§, then what is

(m? + n?) cos 6 - (m%-n?) cot & equal to ?

(a) 4mn simp-i=o

) 2mn Supsiwe

© 1

o

(13-B)

LY N e ———
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3Tt 3 AT 7Y (02) VeI 3 Forg Al W
e #ifirg
forenfefat arr st v i o ol & ww aiw &
TR s R R d
WTHi® farnfifat i v

40 ¥FY 50

50 ¥F 125

60 AFN 210

70 ¥F 315

80 AFH 350

51. 39 faenfiat &t dwear fenast 2, e 60 3t 70 & |

e 3 W R 2
(a) 105
(b) 110
(c) 205

d 210

52. 37 faenfeat it g faft 2, fei 50 & a1fr

53.

"
mmaﬁ;ﬁa(oa)mﬁ%maqﬁf@w
faam Aferg :
fyfiy=r wAETCTE (A, B, C, D, B) #Y uta ant §;
ARG (circulation) HaiHT At (e ) g
fRom:
st | A | B c D E
219 20 | 10 | 15 | 8 | 20
2020 [ 12 | 12 | 18 | 12 | 12 |
2021 | 24 | 14 | 17 | 14 | 15
2022 | 26 | 10 | 16 | 15 | 9
2023 | 22 | 16 | 14 | 16 | 11

fumu ast § @, frw ad/fe a9t § gHER-9A D $it
yaR-dE, ot aul & gEeh I TER-Eer &
frepe oft 2

(a) 2020 3T 2021

(b) 2022 3 2023

(c) et 2022

(d) I 2020

2019 ¥ 2022 % g af #, gAER-G D it
TG, 36 af & ot guEnE @ e
TR-HET % faee off 2

(a) 2019

(b) 2020

(c) 2021

@ 2022

Consider the following for the next two (02)
items that follow :
The frequency distribution of marks obtained

by students in an English examination is given

below :
Marks obtained | Number of
Students
Below 40 50
Below 50 125
Below 60 210
Below 70 315
Below 80 350

651. What is the number of students who scored

between 60 and 70 marks ?
(a) 1056
(b) 110
() 205

@ 210

52. What is the number of students who scored

GET IT ON

Consider the following for the next three (03)
items that follow :

Circulation figures (in thousands) of different
newspapers (A, B, C, D, E) for five years are
given below :

Year | A B c D-| E
209 20 | 10| 15[ g | 20
2020 | 12 | 12 | 18 | f12-| 12
2021 | 24 | 14 | 17 /14 | 15
2022 | 26 | 10 | 16 |/ 15 9

—
2023 | 22 16 14 | 16 11

-

In which of the given years was the circulation

of the newspaper @clou_ to its average
circulation over all the years ? _/7£+;6-+!4+-'+‘
(a) 2020 and 2021 1o+ ot

(b) 2022 and 2023 S

54. Inwhich of the years from 2019 to 2022 was the

circulation of the newspaper D close to the
average circulation of all the newspapers in
that year ?
(a) 2019
(b) 2020
() 2021
(d 2022

How many cases are there in which average of

Google Play

37w g 9 i A Rt STeTT-oTe GEERY
5. (individual fjvs%’aper) PV — q:: more than 50 marks ? the circulation for an individual newspaper was
(a) 100 m—qﬁ?ﬁaﬁ%m—ﬁ@r% ifre oft 9 ’ @ 100 more than the average of the circulation of all
the newspapers ?

®) 125 (@) T , b 125 (@) Ome

k) ' ® Two
(c) 200

() ’ &, 120 (¢) Three
@ 225 @ W : @ 225 @ Four

CEBN-T-EMT (14-B) CEBN-T-EMT (15-8B)
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3T 37T a7 A (03) ST & forg AT |
fasr #ifsg

freifa 99 oM@ (Pie Charts) 1 T
Hifv:

3TRE (Chart)-I : S T EEIT: 1,20,000

3@ (Chart)-II : SFEEIT : 21,00,000

) o g0 3 A
FRW AT AR b

3T (Chart)-I11 : GFERT I §&AT : 3,60,000

T Tl # A At
ﬁﬂﬂi/
s ‘ zami-w#wﬁ
# ¥ are

e Ua U § Ted aTel sttt (persons) #Y 3faa
w2 2

(a) 8

(b) 854

(0 954

67.

58.

59.

60.

d) 754

CEBN-T-EMT

(16-B)

s et 5 T ST s,
::::1?1) (Pie Chart-D) & o T % Rorg 2
e aad P €T 7
11°
13°
(© 15°
@ 2%

Rt~ ot & 300 TRt St e ol & ey
ST, 7 v s T TRART P S e
dft 2
(a)
®)
(©
@

w wlen § 60 frnfE g0 W IE (Afrw
3i%-100) THIFR S :

60, 82, 63, 40, 88, 80, 24, 60, 09, 58, 44, 74

57, 60, 63, 30, 31, 64, 00, 62, 37, 54, 10,99

35, 83, 58, 33, 92, 43, 66, 41, 78, 72, 32, 33

65, 11, 60, 17, 53, 93, 57, 03, 29, 31, 82, 50

63, 15, 41, 55, 72, 42, 32, 23, 30, 48, 67, 34

(a)
(b)

15

139
129
10-5

foray wfoara (@f~rere) ferenfiialt 3 swies 60 @ a1
77 35 U, g 80 A A E 2

(a) 250

(b) 267

) 283

@ 300

100 Sevit =1 TG AT 50 o | 48 §, 7€ TEATH
o 2 et 182 3t 56 Ft mereht & 82 3k 6 g R
I | HYife A AR T R 9

(a) 501

() 515

(c) 523

d) 534

GET IT ON

Consider the following for the next three (03)
items that follow :

Study the following Pie Charts ¢
Chart-I : Number of houses : 1,20,000

SEMI PUCCA

Chart-II : Population : 21,00,000
LIVING IN

LIVING IN PUCCA HOUSES
KUTCHA HOU b
€,
e <
HOUSELESS m
LIVING IN
SEMI PUCCA HOUSES

Chart-III : Number of families : 3,60,000
LIVING IN

_» PUCCA HOUSES
- !
LIVING IN
KUTCHA HOUSES w LIVING IN
a SEMI PUCCA HOUSES
HOUSELESS

56. On an average, how many persons live in every

pucca house ?
(a) 8

(b) 854
() 954

d 754

57.

CEBN-T-EMT

(17-

B)

If 5000 more Kutcha houses are built, then
what will be approximate change in angle for
Kutcha houses in Pie Chart-I ?

(a) 11°

(b 13°

(e) 15°

d 23

If 300 families from the “Houseless” category
shift into Kutcha houses, what will be the
average number of families in every Kutcha
house ?

@ 15

b 139
© 129
@ 105

Marks obtained by_ 60 students in a test
(Maximum Marks-100) are given below :
@ 82,63 40, 83, 80, 248D, 09, 58, 44, 74
57,608, 30, 31,63, 00,6237, 54, 10, 99
35, 83, 58, 33, 92, 4368, 41, (3)72) 32, 33
@11.60 17, 53, 93, 57, 03, 29, 31, 82, 50
®&15,41,55,§2 42, 32, 23, 30, 48,6D 34

What is the percentage (approximate) of
students getting marks higher than or equal to

60 but less than 80 ? 5' ¢

e & _x/o
(c)) ::; 6 9,55<[ 1o (I g
@ 300 %

The arithmetic mean of 100 observatiogg—grns
50. Later on, it was found that two observations
were misread as 82 and 6 instead of 182 and 56.
What is the value of the corrected mean ?

(a) 501

(b 515

(¢) 523

d 534

Google Play
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CEBN-T-EMT

e

7

IRt px2+q F T THES x’—5x+4t.?hp
R q ¥ WA T E?

(@) 17,16
® 16,17
© 15,16
d 16,15

Wﬁﬁ&qﬁﬂmpx2+px+4=0m
Leqxeq=0 MG IAAETE2R, Ap+q
fras SR ?

(@ -3

® -2

@ 0

d 3
i’gﬂ'{xs+x‘+13ﬂ'(x‘+xz+17ﬂHCFW%?
(@ 1

® xt-x+1

© xt+x2+1

@ x*-x*-1

T 9 1 TF 919 AB, T9 F % O Wx Fega w01
siafE waT & | 3t fisa@e AOB &1 &%, 99
AB ¥ &aTé & o1 % omd ¥ TR ¥, @ x R
TARE?
(a) 14
b 12
@ 1
@ 2
WH@Iﬁpfiﬁ(q%mﬁﬁqﬁlﬁiﬁmm
fm e :
L 3®LCM 839 o foawm e anfi |
II. %% LCM 3R HCF %1 drhet §d T &
L fauifl
IEFFAFARFRE FATA Y ?
(a) FAA1
(b) FAAN
() IMRIIZH
(d) FALAHN

67.

70.

(18-8B)

ﬂmﬁqrumwwﬁﬁ*mﬁﬁﬁmw
x%zosi‘wﬁﬁwmﬁﬁmmh
Cx T8t
“ f+2 | =3 | f+g

fRAR LY
(a) 50
() 60
¢ 170
80

mmiﬁfﬂmm%?

(@ 3
® 5
(c) 6
@) ﬁqﬂq%aﬁiﬁﬁﬂmqﬁﬁ?mmm

AT See 1 g T & 2
(a 5
® 6

@ 7
@ Rumeedga Fuife = fomam smasm

X 3 s 29 & g Wi Ivge awd |
) e AH-aT g ?

(a) ¢S NG (Bar diagram)

(b) STRIGTE (Histogram)

(c) SRSIRAT SR (Frequency polygon)
@ I ¥RG (Pie Chart) '
FTEERAT $e 1 HTET 7 & 2

(a) 329

(b) 429

(¢) 529

d) 629

61.

62.

CEBN-T-EMT

1f xZ - bx + 4 is a factor of x* - px? + q, then

what are the values of p and q respectively ?
(a) 17,16
(b) 16,17
(¢c) 15,16
(d) 16,15

If two quadratic equations px? + px + 4 = 0 and
x2+ qx + q =0 have a common root 2, then what

is p+q equalto? l,P.',Q_P-Hf =0

(a) -3 L,-}-Z?’-f-?’:o

-2
() O GCFra) GP+9—;0
@ 3 8o +8 -°
What is the HCF of the polynomials x3 + x* + 1
andx*+x2+1?
(a) 1
b x*-x2+1
© x*+x2+1
@ xt-x2-1

An arc AB of a circle subtends an angle x radian
at the centre O. If the area of the sector AOB is
equal to half of the square of length of arc AB,
then what is x equal to ? A

(a) V4
(b) 1/2
0

& |
( 2
Consider, the following statements Empect of
prime numbers pand q : ‘i‘ S
_— ' - :
I.>( Their LCM is always an 0dd number.
1L )( Sum of their LCM and HCF is always an

even number. @ @ Al -

Which of the statements given above is/are
correct ?
(a) Ionly
(b) IIonly
(¢) BothIandII
Neither I nor II

66.

67.

(19-B)

GET IT ON

Google Play

Consider the following for the next five (05)
items that follow :

The frequency distribution of 205 observations
on X is given below :

X 3 5 6 7
Frequency f f+2 f+6

What is the value of f?
(a) 50
(b) 60
(e0 70
d) 80

What is the median of the

distribution ?

(a) 3

(b) 5

€ 6

(d) It cannot be determined from the given
data

frequency

What is the mode

distribution ?

(@ 5

b 6

@ 7

(d) It cannot be determined from the given
data

of the frequency

What is the most appropriate graphical
representation of the given frequency
distribution of X ?
(a) Bardiagram
(b) Histogram

(¢)  Frequency polygon
(d) Pie Chart

What is the mean of the
distribution ?

(a) 329

(b) 429

() 529

d 629

frequency
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71.

73.

‘74,

CEBN-T-EMT

3 37 71 7 (02) W 3 forg T |
R AifsT -

o erer & R sfard 7, shgrd b ot h &1 €T
% it Rt 2 et (e g P ot Q) F 1
) st gt 14 m &, e W (floon) F AT
o ST P sk R) ¥ a9 B st
6J5 m &1

b fras st R 2

@ 35m

b)) 4m

(c) 45m

d 5m

IR p 3t Q Fr ey el ¥, quT P AR R A
m}@%mﬂmua?‘h’wsamm

22
2J5

(a) 7

(c)
d

37 3R 9T gt (02) T % forg FAfad ®
faem #ifer -

T G 9 (box) F TR (sides) F AR
0-5mma(botwm)ﬁm1cm%IWﬁ
FHfafe e, Srerd SUTET (depth) SRAAT: 14 em,
10 em 3R 8 cm B | TE 9T A I &0 H WIS |

Ifz Gt #1 @S 2000 kg Sf4 o I R, o dfEw
1 3 e b Et e e R 2

(a) 360 gm

(b) 365gm

© 720gm

@ 730gm

e 9t 1 I 1000 kg S o i R, o e wfga
e F A fFa g 2

(@) 1850kg

(b) 1900 kg

() 2050kg

(d) 2100kg

Wit e

75.

76.

1.

(20-B)

st o e g (02) S F R Bty o

far AT :
ﬁgamcﬁaﬁﬂAW%laﬂt,Achm'
Bc=10cm%|giﬂBC‘K@ﬁ§Dng&

AD, BC‘T(E"""%[

AD frad su 2 ?

(a) 48cm

() 50cm
© b52cm

(d) b64cm

s ADC ¥ 8t 71 P ADB ¥ 8o §
SRS ?

(@ 7:15
®) 9:

2:3

16

(©)
@ 3:4

It 3R aret 3t (02) WA % forg Arfcifed w
faem #Horg :

|

J

T T W AT a9 AT 40 em B | STAFI AW |

1A R R |

a5l T 3RTe, B Hiet i 3R foha & 2
(a
(b)
()

40
400
4000

(d) 40000

I

7
b
p L

Consider the following for the next two (02)
items that follow :
Ahallis of length [, breadth b and height h. The
maximum distance between any two points
(say P and Q) inside the hall is 14 m, whereas
the maximum distance between two points (say
P and R) on the floor is 6J/5 m.

71. Whatish equal to ? M*‘

(a 3:6m A; L{ m

4m
4-5m
5m

(c)
(GY)

72. Ifais the angle between the line joining P and
Q, and the line joining P and R, then what is

cos a equal to ?
@ 25 = BIs
a) T o3 = ——
477
345
7
(c) %
2
(d) 3

Consider the following for the next two (02)
items that follow :

The sides of an open box are 0-5 cm thick and
bottom is 1 em thick. The internal length,
breadth and depth’ are respectively 14 cm,
10 cm and 8 cm. It is completely filled with
water.

GET IT ON

TNy 196 5
Y 2
P\% ﬁ 'T} 8Zj /6f

Consider the following for the next two (02)
items that follow :

ABC is a triangle right-angled at A. Further,
AB = 8 cm, BC = 10 em. D is the point on BC
such that AD is perpendicular to BC.

Rop 10
75. What is AD equal to ? Q
(D +3em A e &
(b) 50cm
() 52cm
(d 54cm

76. Whatismtioofargaoftriangle@DCtomaof
triangle ADB ? 'X“-"/yg

(@ 7:15
@9:16 Ve i 24

(c) 2:3
d 3:4

=

Consider the following for the next two (02)
items that follow :

The annual rainfall at a place is 40 cm. The
weight of water is 1 metric tonne per cubic
meter.

77. What is the volume of rainfall in cubic meter

per hectare ?
@ 40

® 400

© 4000

73. If the material weighs 2000 kg per cubic metre,
then what is the weight of the material used in
the construction of the box ?

(a) 360gm
(b) 365 gm
() 720 gm
(@ 730 gm

74. If water weighs 1000 kg per cubic metre, then
what is the weight of the box with water ?
(a) 1-850kg
(b) 1900 kg
(¢) 2:050kg
(d 2100 kg

CEBN-T-EMT

(@ 40000

(21-B) ’
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Wﬁa@ﬁ(oz)mvﬁ%mﬁﬁ%mw s
78. @%@ﬂ(\@igﬁaﬁ{aﬁﬁ%‘m Frawd BRF fER#ART 78. What is the weight of water (in metric tonnes) ﬁzﬁ:z‘/’;{gzl?wmg for the next
. g1 (right cone) % =% (frustum) §; ual rainfall falling there on a hectare of :
) fraar o T (rig of ann .
TH) 22 &  ott )Wm2-5k3ﬁ(?ﬁ1g A frustum of a right cone has a top of diameter
(@ 40 157 2k, Y (bottom k land ? 2k, bottom of diameter 2-5k and height k.
a
|
(b) 400 2 o0 40 81. What is the whole surface area of the lru.stum ?
. g1, o w1 U JET AT T2 () 400 , @ 39:k¥8
@7y 39nk?8 b  417k%8
. (a) (c) 4000
(d) 40000 o) 41#1(2/3 © 43zk%8 7-
© 43rk%/8 (d) 40000 @ 45728 s ¢
7 AR TR 7 (02) W F forg REfiREd | @ 4508
fa=r $ifsa - 82. What is the vol of the frustum ?
e P T A TR ? y 9 Consider the following for the next two (02) "xks' = Y
T AFTHER I (conical body) 7 3frd =7 120° (82 g = S ')g items that follow : (@) 61xk’/48 _’_ !{K + ‘-2—‘#"’ -SK‘
%l (a) 611[1{3/48 \ The angle at the vertex of a conical body is (b) 59ﬂk3/48 a (\
®  59nkY48 S =3 120°. 0 2 © 57ak%48 o 15422 33
\ 57nk%48 / , : 3
_ riae () 57n / @ 53ckY48 3 (/_915'0
79. YRR F A i o ey e Smd & s (d) 537k%/48 -
T - | 3 Consider the following for the next two items
E TF. T S aTe 7Y (02) FEIT & forg FAfian 79. What is the ratio of the ;adfﬁs of the conical that follow :
@ 1:2 faem #Hrg : body to its slant height ? 7, ABC is a triangle right-angled at B. The perimeter
finsr ABC & #ior B @waIor ® | gt &1 whm @ 1:2 T fﬂ/f of the triangle is 24 em and the difference between
® J3:1 . 24cm3ﬂtﬁigﬁﬁﬁ%m3ﬂ(ﬁ%aaﬂ -f /7/)/ the sum of the perpendicular sides and the
© 3:2 JdMdceme | (b) J§:1 2 /e hypotenuse is 4 cm.
- ) 2 3¢
. V3 :2 ‘- — n i 3 ?
@ 2:1 83, F ABC %1 STea T2 ? ‘ . Yy //‘ 83. What is the area of the triangle ABC
@ 18Fiem ' @ Z:1 L /g (@ 18square cm
@ 24
(b) 24Ffcm 9 Y4 square cm
(c) 36square cm

80. If the sum of slant l_leighll;, heigt}t and radius is

g0. aR Rt $wrd Swré ok frow w1 dmww| | © 36FMem
9+ 343) cm, then what is the volume of the

(d) 48 square em

(d 483 fem i L
9+ 3J3) em E, MAFTFATATNE? o4 2 ]
) OL"{ . 1 ik e+ (K‘\" = 9% >34, Acircle is inseribed in the triangle. What is its
(@ 2Tx¥cm q 84. ?gﬂﬁ@qamﬁa(mscﬂbed)%l Fecanesgal & Simeubiren radius ?
n 24, 2 , g .

P % | W (a) lem
el A G 7|
(¢) 24a¥d '.} ’
¢ 7 99 cm L “ x () 1-5c¢m (¢)  24n cubic em _ JS X3 2cm
@ 23izr®em \/ © 2em & T el 1K EX @ 25em

Q/, x v (5(3 @ 25cm 3 2 cubic cm
CE8N~T-EMT 3 Q/’( v &Yt ; CEBN-T-EMT (23-B)
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N 2 (02) A % TOTC Fieafyy
S 37T 7T 7t (02) W & forg e | i o Tt R Consider the following for the next two (02) |  Congider the following for the next twe (02) items
faem #ifsg - W#ﬁﬁm 3 itema that follow : that foll
akc jotlow !
Bma'WTB':T'@n‘ M, 16 cmaﬂ'l%@za}iﬂ ; FEEA MR FH A circle M of radius 8 ¢cm touches externally
L3 20 em T Ty ,
N ) 9T &7 & Tt & & | 9 AR P, Q%ﬁ'ﬁ Led e Tt with another circle N of radius 16 cm. Let P, @ A pot is made from a hollow sphere of inner radius
£, et ovafs st X s W M AdRFAN Lo # ﬁmﬂ%m@ Wihﬁ be the points where the common tangent o —
W Ed R F30.0m 2 touches the circles M and N respectively. 20 em by cutting its upper portion horizontally-
. The height of the pot is 30 cm.
. 85. What is the length of the common tangent PQ ?
f - ?
85. WS WG pQ N TR | R @) 16em -
(@ 16cm . ‘ @ 1642 cm
® 162 em go. T A FFfT T F T T (el | © 24cm @ _ ,
© 2%cm opeﬂng)&mﬁmm% ? @ 242 em 89. What is the inner radius of the mrcul"a:' opening
of the pot so formed ?
@ 242 em oF 86. IfU, V are the centres of the circles M and N it
. . ; . 1042 cm
86. Tlﬁa?{M IMNFIZFELU, VE, Fﬁﬁzl’, Qv @ p respect.wely, then what is_ ‘the area of t.he @ 102 em
aﬁtuﬁmmaa\iammmgo &) I5em | quadrilateral formed by the points P, Q, V and
| v? ® 15em
|

B e
@ 19242 Fem g .!’g,.!w o sl B o 5 equareen 1..,* 3+ }!
) 192&fcm B’Lﬁ L S @ 192 square cm gqf;. © 1055 em
d 12cm ()" 96+/2 square cm

(0 9642 Fem
@ 96Tiem (d) 96 square cm Gl{ [3_,_\/") (d 12em
& sl . Consider the following for the next two (02)
3T 37 a1 31 (02) SR & forg feforfaa ® items that follow ;
faam o : : The perimeter of a triangle ABC is 105 cm.
firgsr ABC #7 feY 105 em # | ¥iiciar AD, BE : The altitudes AD, BE and CF are in the ratio
M CF # 3:5:62| i ing) & 3:5:8.
I 90. il 3 &5 3R T YSiiicular op ening) 90. Whatis Ehe angle made by the line joining the
87. AB:BC:CAfrasatatd? . :ﬁmﬁwﬁﬁgm‘t . m‘t@rmiﬂ 87. Whatis AB:BC: CAequal to? centre of the sphere and any point on the rim of
(a) 10:6:5
@@ 10:6:5 gﬁﬁaraﬁwamiuti@%mmlwﬁww @5-1&-6 : b \0*3 the circular opening with a vertical line passing
(b) 5:10:6 & i (© 6:5:83 > through the centre ?
© 6:5:3 b @ 3:5:6
d) 3:5:6 (@) n/3 | (a) w3
88. What is the approximate area of the triangle
88. e ABC #1afae dave 7R 7 (b) w4 ) ! ABC? y b w4
(@ 1753 em ‘ (a) 175 square cm X .
®) 1903 em ) /6 ‘ ; 190 squarecm 8 : © =8
o ()~ 205 square cm ) 4 :
(© 205@cm @ w2 ‘ (d) 285 square cm | @ w12
@ 285 Mem — XAORZ
>
CEBN-T-EMT (24-B) | CEBN-T-EMT @ (25-8) _
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. 0,000 r TRT 4% TH S T ;g
9l Wa‘ﬁ‘mﬂx‘}fuﬁmamgm 15% S | 06- tﬁlw & s R = YA R § m: 91, A person sells article X for ¥ 34,500 and makes |96,  How much will ¥ 10,000 amount to in one year’s
m%laaaqy‘ah 10%333!1%‘1‘(‘3?31%1 kL) ) ﬁﬂl%?(ﬂmmﬁ) a profit of 15%. He sells article Y at a loss of time at 4% rate of interest per annum if the
wﬁiﬁﬁiﬁiﬁﬂ-ﬁﬁﬁmiﬁﬁgﬂﬁ w 10%. He neither loses nor gains on the whole interest is compounded once in every three
ﬁﬁﬁﬁﬂﬁimﬁmtlﬁvmﬁﬂ‘ﬁw (a) 10,406 because of these two transactions, What is the z 2 (tak = . ’al )
3 (b) 10416 selling price of article Y 7 o (mm:o(w; A
a) ¥
(@ 40,000 () T10,426 , (a) T40,000 ., 40" _ LioU
®) 40,500 @ 10436 ! M7 240,500 joo . B 710416
(© T41,000 ' ‘ () ¥41,000 iz 50005'0 ¢ () T10426
@ T51500 o7. TR p =000 & W 70p% + 43p ~ 5 F A a ) 8L "L"—,';% =¥ @ t10436
. d s . .
92. 100 Rz, 10 s w R wima R 2 g 92. 100 quintals is what percent of 10 metric 97. If p= 009, then what is the value of
@ 1% (@) ;1 (":;m’l; 7002+ 43p-57 g o9 _5_)";{_
?! )L :g:% (b)) 1 ®  10% @ -1 ’?ﬂul <
c ( / —
: (© 100% EE 0 74— + 72 x —
b @ = @ 1000% © 1 /op “’5-
- s o @ 10 0.7+ 4.3 —
93. T I O WG P 3 317 (imscribed) ® 13| g 101 53 101 8 oo 3 e s @ 2 B i s o aibdngle
P2 em ¥ | P F T TR ? . T 93. Aclrce.lsmsm . m'ﬂn q : "l98. What is the remainder when 219! is divided by
(@ 123 afem @ 1 ) ‘ The radius of the circle is 2 cm. What is the area 2087 ,—_,
® 2 P e triangle ? - 8
® 123fem e , S }Z @ 1 2 -
(© 93 Flcm (el i6 ﬁ e @ /X )'(3 .,m/z LoL.
ot @a 7 (b) ~ 12 square cm }/ ©
d) 9Ffem (¢) 93 squarecm c
g 1 o . ﬁ99. I p (+0) 3 q (= 0), THIFTx2 + px +q=0 F (d) 9squarecm @ 7
ﬂﬂfﬂa:rﬁ(medians)%afﬁmmmg? whAP g b 94. The sides of a triangle are k, 1-5k and 2:25k. " g”(’mm‘:::::r:;::;o?:f?e wal m:n
+ = H4
( 2 @ 2 What is the sum of the squares of its medians ? e i iin
sl ® 3 359k%64  p= @ 2 prg=—p p=i
M) 379k%64 i Y ®
(©) 389K¥64 Y ; R P PY= 2 g2
e . ¢ 7 2 © 4
. \ (c) 389k“/64
d 5 : ! ; + <.
@ 399k%64 @ > @ 399k%64 5 L4
2 = 2 = .
95. IM2s=a+bscdd e ::ma;(u;x +px+q—03ﬂ(xb+qx+p-0 95. If2s=a+b+c, then whatis 100. The equations x*+px+q=0 and
: 1 1 " - P # Q) ¥ T 3B 7 (common root) ¥ | (p +0) 1 1 1 1 x2+qx +p=0(p=q have a common root.
s s-a)(s-b)(f;c):) e py—y FATFIL? s(s—a)(s-b)(s-c) irergws, e What is the value of (p + q) ?
fms e @ -1" equal to? @ -1 s+p=
(@ abe B0y ; @) abe ® o =
® 2abe oy my ()] bl 'LJ @ 1 - el © 1 ‘Fo T
© 4abe OXT¥7 ¥ 3 6J (© dabe & (\
d ab+bc+ca @ 2 (d ab+be+ca )-8 A+ == ?/
CEBN-T-EMT 2 + 4712 Y28 # CEBN-T-EMT (27-B) & { = ?/
2|3 ——
A ] 7
2
PR T '
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